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AnswerALL the questions in the booklet provided.

QUESTION 1 ofthis paper entails multiple choice questions with options A to D. Write down

the letter corresponding to the best option for each question.

For QUESTIONS2 AND 3 showclearly all your calculations.

All written work mustbe donein blue or blackink.

Untidy/illegible work will attract no marks.
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SECTION A [ 30 Marks]

Question 1 (30 MARKS)

1.1 Anamount of N$200 009.00 can be expressedin standard form as: (3)

A. N$2.0 x 10° B. N$2.00009 x 105

C. N$20.009 x 1075 D. N$2.00009 x 1075

1.2 The discriminant (A) of the quadratic equationis given by the expression: (3)

A. A= b? —4a B. A= Vb2 — 4a

C. A= —b +b? —-4a D. A= b? — 4ac

1.3. The values of p,qandr inthe Venn Diagram beloware: (3)
S=560
 

 

   
A. p = 160,q = 200 andr = 200 B. p = 130,q = 200 andr = 320

C. p = 90,q = 110 andr = 220 D. p = 90,q = 110 andr = 320

1.4 Given S = {1,2,3,4,5,6}, A= ({1,3,4,5}, B= {1,2,5}, find (AN B)’ ())

A. {2,3,4,6} B. {1,5} C. {1,3,4,6} D. {2,3,4}

1.5 Factorize the expression 2ab? — abd — 2bc + cd (3)

A. (ab — c)(ab — c) B. (ab — c)(2b — a)

C. (ab — c)(2b + d) D. (2b — d)(ab + c)



4y+1 _ 3y-7 1.6 The linear equation, ; “iL 2 has a solution, (3)

1 1
A y=-—41 by = =o C.x= 5 D.x = 33

1 .
1.7. Express axes i the form a’. (3)

4

A. aie B. a? C. as D. a3

1.8 The sum to be invested for four years at 8% p.a compounded semi-annually

to amount to N$3 500 at the end of the investmentperiod is: (3)

A. N$ 2 651.52 B. N$2 557.42 C. N$2 572.60 D. N$4 761.71

1.9 The prime decomposition of 1260is: (3)

A. 4xX9xX5x7 B.2xX3xX5Xx7

C.2?x4x3x5? D. 27x32x5x7

1.10 Whichof the expressions below represents the following statement? (3)

“y is five less than double x”.

A. x=2y-5 B. y=2x4+5 Cc. y=2x-—5 D.x=2x4+5

SECTION B [ 70 Marks]

Question 2 (24 Marks)

2.1

2.2

2.3

Expand and simplify

2.1.1 —2ab —8(ab —b) — 8b (2)

2.1.2 xy—(x-y)? +y? (4)

Solve the following equation: —x —2(x—1) =1-—4(x+1). (3)

Let A = {a,b,c,d,e}, B = {a,b,d,f,g} C= {b,c,e,g,h} and D = {d,e,f,g,h}

2.3.1 AN(BUD) (2)

2.3.2 (AND)UB (2)

2.3.3 (AUD) (2)



a NeHh ee aot2.4 Evaluate: 2+ (- x) 257 ( =) x ( 5) (5)

2.5 Ketu sold her car for NS 117600 making a profit of 12% on the costprice. Calculate

the cost price of the car. (4)

Question 3 (46 Marks)

3.1 Without using a calculator, evaluate the logarithmic expressions:

3.1.1 logg27—2log,25 . (4)

3.1.2 logi1 V 112 + logi3 169 + logs 1 (4)

3.2 considerthe following matrices:

a=a] ama 8=[23 i]
Determine the matrix:

3.2.1 A+B (4)

3.2.2 -—2B+AB (8)

3.2.3 Bo (5)

3.3. Among the 120 freshmen(F) at a college, 40 take mathematics (M), 50 take English

(E), and 15 take both subjects. Use Venn diagram to find the numberof freshmen

who

3.3.1 donot take mathematics (4)

3.3.2 take mathematics or English. (2)

3.3.3. take neither mathematics nor English. (2)

3.4 For a certain arithmetic progression,thefirst term is 5 and the commondifferenceis

-3. Determine the twelfth term. (4)

3.5 Dora invested NS$40 000 for 10 years. After 10 years she received a total amount

of NS$52 000 from her investment. Calculate the annual rate at which simple interest

waspaid. (5)

3.6 Evaluate Y4_,(2") (4)
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